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                                OSDAV Public School, Kaithal 

                                    First Unit Test (May, 2025) 

                                                 Class : XI                            

                                                       Subject : Economics (030)                    

Time: 1½ Hr.                                                                                                                         M.M: 40 

General Instructions:- 

I. All questions are compulsory. 

  II. Q. No 1-10 carry 1 mark, Q. No 11-12 carry 3 marks, Q. No 13-15 carry 4 marks, Q. NO 

16-17 carry 6 Marks. 

Q.No. Questions Marks 

1 Read the following statements carefully and choose the correct alternative from the 

following:- 

Statement 1:- The purpose of collecting statistical data needs to be decided in the 

advance. 

Statement 2:- In plural sense, the term statistics means statistical method. 

Alternatives:- 

A) Both the statements are true. 

B) Both the statements are false. 

C) Statement 1 is true and statement 2 is false. 

D) Statement 2 is true and statement 1 is false. 

1 

2 In exclusive class interval of a frequency distribution:- 

A) Upper limit of each class interval is excluded.        

B) Lower limit of each class interval is excluded. 

C) Both a and b 

D) None of these. 

1 

3 Classification of Population of India in terms of years is an example of : 

(a) Geographical Classification.          (b) Chronological Classification 

(c ) Quantitative Classification.           (d) Qualitative Classification 

1 

4 In case of inclusive series, 

(a) Upper limit of class interval is excluded from the class 

(b) Lower limit of class interval is excluded from the class 

(c ) Both upper & lower limits are included 

(d) Both upper & Lower limits are excluded 

1 

5 Basic Reason for existence of economic problem is:- 

A) Unlimited wants.      B) Scarcity.       C) Alternative uses.     D) None of the above 

1 

6 The following data related to the marks of a group of students: 

Marks   Below 10    Below 20   Below 30   Below 40   Below 50 

No. Of 

Students  

         15        38        65        84      100 

How many students get marks more than 30 ? 

A 65.                           B 50.                                 C 35.                              D 43. 

1 

7 In a good questionnaire: 

A) Number of questions should be numerous/infinitive. 

B) Questions related to mathematical computations should be asked. 

C) Personal questions should be preferred. 

D) Questions using double negatives should be avoided. 

                                                               Or 

Stratified sample is preferred where: 

A) Population is perfectly homogeneous.           B) Population is non homogeneous. 

C) Random sampling is not possible.                  D) Small samples are required. 

1 

SET- A 
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8 Read the following statements assertion and reason, choose one of the correct 

alternatives given below:- 

Assertion:- Scarcity is the root cause of all economic problems. 

Reason:- We face scarcity because human wants are limited.  

Alternatives:- 

A) Both assertion and reason are true and reason is the correct explanation of 

assertion. 

B) Both assertion and reason are true and reason is not the correct explanation of 

assertion. 

C) Assertion is true but reason is false. 

D) Assertion is false but reason is true 

1 

9 The data collected on the height of a group of students after recording their heights 

with a measuring tape are…………….. 

A) Primary data.                                                                      B) Continuous data          

C) Discrete data.                                                                      D) Secondary data 

1 

10 Read the following statements carefully and choose the correct alternative from the 

following:- 

Statement 1:- Data originally collected by an investigator for the first time for some 

specific purpose is known as secondary data. 

Statement 2:- Population census conducted by Government of India is an example of 

secondary data. 

Alternatives:- 

A) Both the statements are true. 

B) Both the statements are false. 

C) Statement 1 is true and statement 2 is false. 

D) Statement 2 is true and statement 1 is false. 

1 

11 The government and policy makers use statistical data to formulate suitable policies of 

economic development. Illustrate with 2 examples. 

 

3 

12 Out of census method and sampling method, which one is suitable in the following 

cases: 

A) When population is heterogeneous in nature. 

B) It is Comparatively easy to organise and supervise. 

C) It requires relatively less money, time and labour. 

 

 

1 

1 

1 

13 (A) Distinguish between discrete variable and continuous variable. 

(B) Distinguish between bivariate frequency distribution and univariate frequency 

distribution.                                             

2 

 

2 

14 A) “Aggregates must be expressed numerically.” Explain this with the help of an 

example. 

B) Define the concepts of  “Saving” and “Investment”. 

 

2 

1+1 

15 Why should we study Economics ? Explain in detail.  

                                                                         Or 

Differentiate Exclusive and inclusive series by taking illustrations.  

4 

 

4 

16  A) Distinguish between Direct Personal Investigation and Indirect Oral Investigation 

methods. 

B) Convert the given series into an exclusive series: 

Mid Value         5       15         25         35        45 

Frequency          4       8         10           6          2 
 

3 

 

 

 

3 

17 (A) Discuss how you would use the lottery method to select 3 students out of 10 in 

your class ? 

(B) What do you mean by Chronological classification of data ? Explain with the help 

of an illustration. 

3 

 

 

1+2 
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                                 Ans. Key with Marking Scheme (May UT, 2025) 
                                                               XI- Economics                                                      Set A 
 

Q.No Answer  Marks 
1 C) Statement 1 is true and statement 2 is false. 1 
2 A) Upper limit of each class interval is excluded. 1 
3 B) Chronological classification 1 
4 C) Both upper and lower limits are included. 1 
5 B) Scarcity. 1 
6 C) 35. 1 
7 D) Questions using double negative should be avoided. 

                                                                              Or 
B) Population is non homogeneous.  

1 

8 A) Both assertion and reason are true but reason is the correct exploration of reason.  1 
9 A) Primary data.  1 
10 B) Both the statements are false.  1 
11 

 

3 

12 A) Census method 
B) Sample method  
C) Sample method  

3 

13 

A 

 

 

 

 

 

B 

 

2+2 

14 A) Aggregates must be expressed in numerical or quantitative form because when data 
are not given in theoretical form,  conclusion cannot be find out. If we say Ram is taller 
than Shyam, it is not statistics because this information is not given in quantitative form 
but when we say height of Ram is 5’7”and height of Shyam is 5’5” then it will be statistics 
because now information is given in quantitative form and we can find out the difference 
as well as the sum total and average and many other conclusions can be find out. 

 

2 
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B) Saving is that part of income which is not consumed as we know that income is the 
sum total of consumption and saving so one part of income will not be consumed that is 
known as saving. 
Investment means an expenditure done on the purchase of such assets which help in the 
generation of income. 

 
1+1 

15 We should study Economics because of the following reasons: 
1 To know about description of an economy  
2 To know about Economic policies  
3 To know about the decision making process related to Economic decisions.  
4 To know about the contribution of different sectors in the economy 
(Explain all points in detail, any other relevant points will be considered also.) 
                                                                        Or  
Difference between Exclusive and inclusive series:-  

Exclusive Series  Inclusive series.  
1 It is a series in which upper limit of every 
class becomes the lower limit of next 
class. 

1 It is a frequency series in which upper 
limit will not become the lower limit of 
next class. 

2 During calculation of frequencies upper 
limit is excluded. 

2 During calculation of frequencies, both 
upper and lower limits are included.  

3 Marks                      Frequency  
    0-10                                   5 
   10-20                                 7 
   20-30                               11 
   30-40                                 3 

3 Marks                      Frequency  
    0-9                                     5 
   10-19                                 7 
   20-29                               11 
   30-39                                 3 

 

4 

 

4 

 

 

 

 

 

4 

16 

A 

 

 

 

 

 

B   
Marks     0-10     10-20     20-30     30-40     40-50 
Frequency         4         8         10        6         2 

Conversion of mid value series into an exclusive series: 
L1=M.V-1/2×i  
L2=M.V+1/2×i 

3 

 

 

 

 

 

 

3 

17 A First of all we will make slips of all10 students and put up these slips in a bowl, after 
shuffling them we will pick up the slips one by one randomly. First 3 slips will be selected 
as our samples. No Partiality is there as all the students have equal chance to be 
selected as sample.  
B When the data are classified on the basis of time period is known as chronological 
classification: 

Years     1990   1991    1992    1993    1994 
Profits of a 
firm (₹ in 
lakh) 

     10      12       15      14      17 

 

3 

 

 

 

3 
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General Instructions:- 

I. All questions are compulsory. 

  II. Q. No 1-10 carry 1 mark, Q. No 11-12 carry 3 marks, Q. No 13-15 carry 4 marks, Q. NO 

16-17 carry 6 Marks. 

Q.No. Questions Marks 

1 Read the following statements carefully and choose the correct alternative from the 

following:- 

Statement 1:- Indirect oral investigation is a very costly method. 

Statement 2:- The degree of accuracy is extremely high in case of indirect oral 

investigation. 

Alternatives:- 

A) Both the statements are true. 

B) Both the statements are false. 

C) Statement 1 is true and statement 2 is false. 

D) Statement 2 is true and statement 1 is false. 

1 

2 The method of sampling in which universe is divided into a number of groups and 

then certain numbers of items are taken from each group at random. 

A) Stratified random sampling.                          B) Systematic sampling 

C) Quota sampling.                                             D) Convenience sampling 

1 

3 A grouped frequency distribution with uncertain first or last class is known as: 

A) Exclusive class distribution.                           B) Inclusive distribution 

C) Open end distribution.                                    D) Discrete distribution 

1 

4 Statistics is used by: 

A) Businessman.           B) Economists.            C) Government.          D) All of these 

1 

5 Read the following statements assertion and reason, choose one of the correct 

alternatives given below:- 

Assertion:- Production is an economic activity. 

Reason:- Production includes all those activities which are undertaken to produce 

goods and services for generation of income and satisfying human wants. 

Alternatives:- 

A) Both assertion and reason are true and reason is the correct explanation of 

assertion. 

B) Both assertion and reason are true and reason is not the correct explanation of 

assertion. 

C) Assertion is true but reason is false. 

D) Assertion is false but reason is true 

1 

6 From the following data, how much percent of persons are earning more than ₹1499: 

Income   500-999  1000-1499  1500-1999 2000-2499 

No. Of 

Persons 

       15        28        36        7 

A) 50%.                           B) 45%.                           C) 40%.                        D) 60%. 

1 

7 Primary data is preferred over secondary data where: 

A) Time available is short.                                      B) Accuracy is important 

C) Sufficient finance is not available.                    D) Much accuracy is not required 

1 

8 In a good questionnaire: 

A) Number of questions should be numerous/infinitive. 

B) Questions related to mathematical computations should be asked. 

C) Personal questions should be preferred. 

D) Questions using double negatives should be avoided. 

                                                               Or 

Stratified sample is preferred where: 

A) Population is perfectly homogeneous.           B) Population is non homogeneous. 

1 
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C) Random sampling is not possible.                  D) Small samples are required. 

9 The data collected on the height of a group of students after recording their heights 

with a measuring tape are…………….. 

A) Primary data.                                                                      B) Continuous data          

C) Discrete data.                                                                      D) Secondary data 

1 

10 Read the following statements carefully and choose the correct alternative from the 

following:- 

Statement 1:- Under Spatial classification, data is classified with respect to different 

periods of time. 

Statement 2:- Population of Bihar for different years can be given according to 

chronological classification. 

Alternatives:- 

A) Both the statements are true. 

B) Both the statements are false. 

C) Statement 1 is true and statement 2 is false. 

D) Statement 2 is true and statement 1 is false. 

1 

11 “Statistical methods are no substitutes for common sense”. Illustrate with 2 examples. 3 

12 “You have unlimited wants and limited resources to satisfy them.” Explain the 

statement by giving 2 examples. 

3 

13 a) Differentiate between Census Method and Sample Method of Data Collection. 

b) Do you agree that Classified data is better than raw data? Why ? 

2+2 

14 A) “Aggregates must be expressed numerically.” Explain this feature of Statistics with 

the help of an example. 

B) Define the concepts of  “Saving” and “Investment”. 

 

2 

1+1 

15 Why should we study Economics ? Explain in detail.  

                                                                         Or 

Differentiate Exclusive and inclusive series by taking illustrations.  

4 

 

4 

16  (A) Discuss how you would use the lottery method to select 3 students out of 10 in 

your class ? 

(B) What do you mean by Chronological classification of data ? Explain with the help 

of an illustration. 

3 

 

3 

17 A) Distinguish between Direct Personal Investigation and Indirect Oral Investigation 

methods. 

B) Convert the given series into an exclusive series: 

Mid Value         5       15         25         35        45 

Frequency          4       8         10           6          2 
 

3 

 

 

 

3 

 

                                        Ans. Key with Marking Scheme (May UT, 2025) 
                                                               XI- Economics                                                      Set B 
 

Q.No Answer  Marks 
1 B) Both the statements are false. 1 
2 A) Stratified random sampling. 1 
3 C) Open end distribution 1 
4 D) All of these.  1 
5 A) Both assertion and reason are true and region is the correct explanation of assertion. 1 
6 A) 50% 1 
7 B) Accuracy is important  1 
8 D) Questions using double negatives should be avoided.     

                                                                                  Or 
B) Population is non homogeneous.  

1 
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9 A) Primary data  1 
10 D) Statement 2 is true and statement 1 is false. 1 
11  3 

12 

 

3 

13 

 

 

 

 

 

 

 

 

2+2 

14 A) Aggregates must be expressed in numerical or quantitative form because when data 
are not given in theoretical form,  conclusion cannot be find out. If we say Ram is taller 
than Shyam, it is not statistics because this information is not given in quantitative form 
but when we say height of Ram is 5’7”and height of Shyam is 5’5” then it will be statistics 
because now information is given in quantitative form and we can find out the difference 
as well as the sum total and average and many other conclusions can be find out. 

 

2 
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B) Saving is that part of income which is not consumed as we know that income is the 
sum total of consumption and saving so one part of income will not be consumed that is 
known as saving. 
Investment means an expenditure done on the purchase of such assets which help in the 
generation of income. 

1+1 

15 We should study Economics because of the following reasons: 
1 To know about description of an economy  
2 To know about Economic policies  
3 To know about the decision making process related to Economic decisions.  
4 To know about the contribution of different sectors in the economy 
(Explain all points in detail, any other relevant points will be considered also.) 
                                                                        Or  
Difference between Exclusive and inclusive series:-  

Exclusive Series  Inclusive series.  
1 It is a series in which upper limit of every 
class becomes the lower limit of next 
class. 

1 It is a frequency series in which upper 
limit will not become the lower limit of 
next class. 

2 During calculation of frequencies upper 
limit is excluded. 

2 During calculation of frequencies, both 
upper and lower limits are included.  

3 Marks                      Frequency  
    0-10                                   5 
   10-20                                 7 
   20-30                               11 
   30-40                                 3 

3 Marks                      Frequency  
    0-9                                     5 
   10-19                                 7 
   20-29                               11 
   30-39                                 3 

 

4 

 

4 

 

 

 

 

 

4 

16 

  

 B When the data are classified on the basis of time period is known as chronological 
classification: 

Years     1990   1991    1992    1993    1994 
Profits of a 
firm (₹ in 
lakh) 

     10      12       15      14      17 

 

3 

 

 

 

 

 

 

 

 

3 

17 

 
Marks     0-10     10-20     20-30     30-40     40-50 
Frequency         4         8         10        6         2 

Conversion of mid value series into an exclusive series: 
L1=M.V-1/2×i  
L2=M.V+1/2×i 

3 

 

 

 
 

 

 

3 
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